MAT 121 - Spring, 2011 Test 2

Chapter 2

L (10pts) f=1(1-1).(24).6.2).(45)}

a.

b.

Function? (Yes/no) \/—55

If not, why not?

If it is a function, is it 1-to-1? (Yes/no) Yo S

If it is not 1-to-1, why not?
b = ‘7 .
What’s the domain? 7 Y, %/ Y })

What’s the range? i A g
ge ? > L,L/ ‘/5 );

(5 pts) Name

2. (10 pts) For each of the following graphs, determine if the relation is a function. Ifitis a

function, state whether or not it is 1-to-1.

Is it a function? Y’f S

A S PR e

Isit 1-to-1? N Isitl-to-12 7S

[s it a function? Yo =

Is it 1-to-1?

Is it a function? I\} 2
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3. (5 pts) Determine whether or not ‘x + 3| — 2y =35 defines y as a function of x. Ifit does not,

show/explain why not. (Solve for y and look at how many solutions you get.)

—’Lj s L= l%f%[
y = —':L(S‘— \x%:-%n
Ves .

4. (10,pis) Let fi(z) =+ +3. Simplifyfhe differonce quaticnt - = h;: nticiy

e \ L #_,/”" -2( 3
(x+h) +2- (X7 +5 ) _

—

w—

i

| <3
Pioxk +h7H3 X —>

—
e

i
o ( i)
2Axh +h ket D
— / = J
— M Y
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gD
5. Let f(x)=l+; and g(x)=+x+5.
X

a. (5 pts) What is the domain of f? %)( / X - 3?: (\0-?/ —35 Uéﬁ 3/00'\

b. (5 pts) What is the domain of g ? {X { \XZ‘S‘E: E—S\/Och

c. (5pts) Find (f o g)x). (Do not simplify.)
Xt+s 4+

ScRpATC RS
hided () #—3
d. (5 pts) What is the domain of (f g)(x) ? 9 *

?)(l XétpCj\ %d ?(X)&&(p\? \ﬁ(’i‘; 4 -3
"—‘ix( x z-$ and 700 —3? 1S CtQW";\'««

Frur .
:ix/xz'ﬂg - E’SFLO*G\)

e. Determine each of the following functions (without simplifying) and state the domain of

each in interval notation.

i (pts) (f+g)w)

-
- L s 01 ¢ =% 1|t 2ed

e &;%XlXéy(Q@} i 4K ? -

ii. (5 pts) ( J(v)

(\ QQ/ A ANU def JCCX‘} :;:0

Tt oSy apomd ¥ 2 XETE
¥+3 :%-F;/;{\ﬂ 3 - U (-2, co) [
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6. (5 pts) Answer one of the following:

x—1

a. Show that f(x)=
x+2

is 1-to-1, algebraically.

b. Let f(x):xi;—;-. Find £7'(x).

Q, X—-—-—'_’\ = Y_f.:-—‘—-»
‘A,q—‘l/ ‘,(,,*'7/

-

(y{ _0(7( I/-}—ﬂ = {Xl-\BCY.l | ~ 'L\

X, X 2K, X BT R YTy KT

e

Ax, —Ng = TR Xy

{ 2
?3*: :’%Xz
\[‘:Xl W

7. (5 pts) The graph of f is given. Sketch the graph of £ .

[35]

Page 4

S
Yy =y = 2% - |
7"(7 j
\*J’/‘:y"j ot WT&

b~ 1 _
= M“.—
Y= =
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8. (5pts) If f varies jointly as ¢° and /, and f = - 36 when ¢ =3 and / = 2, find f when

=4 an = - - ! Le *
—— zk . acg-kae-l Lo () (v*) ()
== )
= *3 e= =2 oy =L |
e |

9. Graph each of the following functions using techniques of shifting, compressing, stretching,

and/or reflecting. Start with the graph of the basic function and show all stages in separate

sketches. Track 3 key points through the transformations.

2~

3B Gers) =3 005)

a. (5pts) h(x)=3(x+5) +1

Puy = w? 30N = 3R>
" k
|13>
(-\/ 4\) (‘/'3“ ("/g\ ( ('@,3
00 (9,0) (-50)
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#9, continued... Graph using transformations.

b. (Spts) g(x)=+v3—-x+5 (Hint: 3—x=-x+3 isoneway. 3—x= —(x —3) is another.)

Q(wry ¥S i

10. (5 pts) Find the inverse of f(x) =3x-7

ﬁ(??y-?

X+ 3= 39 )
I 7 = N

7: iy,%——?‘-: C (,X)




